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Complete pages 201 - 203
Ques. 1-8, 11(a,b), 12(a), 13(a)
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Multiple Choice

. Whichfunction is NOT o cticxdrg'h'c function £
A. Y= 2.(x+1)*-1]

B. u= (x-3)(2x%+5)
o= 2 (XA X)) - Y= Ox2+5%-0X~15
=X +2)(X+))-] Y= 2%x2=]%=15
=X *+ 2% +2%X+ 271 QUADRATTC
U= 2%X*+4%x -5

~ QUADRATIC
C. u=5%*20 %:E = 3X-AN+6
SQUADRATIC B—aex-m +G&
' ’Qﬁ 3% -9
~ NOT QUADRATIC

2. Which quadratic function represents
+he parabola shown ?

Opens Upward « a>O
Uertex 2 (=4 ,-4)

A. L=(x+4)*+4 @\;= (xr4)=4
IR B 'I\J= \'X—-Ll;)z-l_—L—} _D-\.Iz (,X"L“)l"]—!'
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3. _J_.‘Clt?_f'ﬁ'l. j 'H‘\e-: rcmgc: for +he function
= ~6(X=06)" + 6. Y Uertex: (6,6) OpensDownward

‘{\; NEXA ,VER } { ly £-G YER}

\; Y 2 G;,\/E‘:%:f 7 v 2 - \/EH}

4. Which Qu uadratic '?u(\cﬂ-non in Ver+€:x
form is ec&u\fo\\erﬁr ‘o = X*=2x=-57?

ANy =(x-2)=1 B. y= (x-2)%9
V= (%-2)x-2)-) A= (x—z)b&”z)—q
VS XEP-2x-2x e V= X -2 X-2X+ =49
= XA-4xt+3 V= X*-4x-5§

C. v=C(x-1N-Y4 = x-1)*
\‘x-—(xw])(xﬂlj-al @Y Qx 1) (% - 1)
\/ X = X=1%X+1-4 ‘I XA Ix-1x+1- (o
y—-x~2x -3 V= X*=2x =S

5. Which graph sShows +he function
\r- L+ax> £ a<0O?

Ly = ax*+41 (vertical translation of lunit up)
(opens .downward)
Ay Bt
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6. Whaot conditions on o and _w(!\g{vc
the function ()= a(X-p)’+ g no
X- Intercepts ?

Q >O and >0 B. a<0 and >0

Opens Upward Opens Downward
Vertex Qbove x-axis Vertex above x-axis.
Ly NO X-intercepts Ly 2 X-intercepts
C.a>0 and g=0 D. a<0 and 9=0
%pcnfs Upwar Opens Downward
ert+ex on X-ax!S Uertex on X-ax\S.
Ly 1 xX-intercept Ly 4 X-intercept.

7 Write cach quuadrcz-i'fc function in vertex
form by c:omp\e%-mg ™he square.

Q) Y =X*-18%x-7

y = (x*=18%) -7
v = (x=18%+381-81)-27
v = (x™>18%+81)-%1-27
y = (x-9)*- 108

D) \/1‘3}(‘"4.-3@% +13
= 3(X*12%) +13
v = SX*H12X +36-36)+13
V= S 12X +36) -36) + 13
V= LX) =3¢ ]+13
V= B3X+E)2=-108+13

v O(x+6)*=-95

i
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Solutions -—ssssseeee————

C)w*~40x -40x

-10(x*+4x)
<..: —\OQx g x+4-4)
_1Q (y 14 x +4)- u,'!

V= —10L(x+2)*-44]
= —100X+2)* +40
8.a) For +he araph Srown, give the
Coordinates of +he v +f.=:x)4~hﬁ

) Deter mu ne q

equation of the axis of symmﬁh‘rn})
+he mmm“xum or mMaximum yal lue
"J“w:: domain and range, and the
- intercepts. _
Vertrex 2 (-6,4)
Prxis ofF Symmetry s (X=-¢)
Moximum Value: =4 or 6,4)
Domain - {7{ x£R'}
Ronges §ylusy, uER‘}
"K—"Lﬁ‘j"CTCCD""'S’ ‘K=‘-*'T and %

=5

U-.CLC)".'Q 1C ‘FU.T‘LC on 1IN

vertex form 8¢ the 3rup‘n :

|

1

x'-'=ilﬁ>< ﬂa“*“*
=S = al(Xx+6)+4
3= o (5+0)+Y
3=al*+4
z)_j_!'i' = '[:l t III'} L T e
~\ =¥ *_er—‘.f:x%-fé:?"%r’%g

|

NS SR. &.

—

Il
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{Q%b}l‘; The first three steps in comp! Ean;
he Square Delow Ccontain one or ™~

'\1@\“ € _ _CXrocs.-

V= 2x=-8%x+9
v = 2038 +9
V= 2 (X*~8x0c4deH ) +9

j:deﬁ“':‘t?j and Correct the errors.
¥ Eyrors circled in red.

b) (Grrechion: = 2x*-8Sx+9
\; = 2(x*4x)+9
$ = 2 (XPHx+4-4)+9
9= 2[0x-4x+4)-4] +9

v = 2L[(x-2)~ 4] +79

"'\,;z 2(%-2)*-8+9

v=2(X-2)*+ 1

Il

]
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12. 7The fuel consumption for a vehicle
1S related to the speed that itis

driven and (s usually given in_liters
per one hundred Kildmeters. En mcs
‘are 86‘(\6‘(‘&\\ more efficient

"\mc\\'\er Speeds -\"hom ot lower spcc:ds
Fo¥ o particular Type of car dr\\mﬁ
ot a constant €>peed the fue )
Consumption C in Litdes per one
hundred Ki \ome**ers 1S re\o"rcd +o
+he Qverage drwm eed,V,
Kilometers per hc:w“ E e ?uncﬁcn
Cl)Y=0.004v*-0. G2V + 5@ |

a) Without araphing , determine the
most efSitient Speed a+ thch +his
car Should be driven. Exp\cuﬁ Show
The Strategy you use.

—O OOHN *~0.62.v +30
o4 (V2= 155v)+30
O c;o% (NE155Vv+ 6006. 25 - 6006, 25)+30
oo (v = 155v + 6C0G. 25)-G006.25]+30
0.004 Lv-T11.8)*~ 6006-251+30
0.004(V=117.5)*—=34.025 +30
O.004 (v=-11.5)*+5.915

l

NN ﬁmm (1

o II

Uertex ("" 5 ‘5@"“5\

specd -?uel coensumphion

The most efFicrent Snecc:l at which
+he car Should be deiven IS 1.5 K/ h.
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13. The height, n,in mcters, ofa ?‘Qre
+ seconds after 1t 1S j{"wed into

+he air can be modelled by the
function h=-49+%* +cl.25%.

a) At what hel

ONaxi mum ? ‘Bow Many Seccr\ds after
baa‘nq Shot does +his occur?

ht 's The flare ot i+s

n=-49+* + &l1.25+,

h=-492-1251)

N= -490(£*-12.54¢ +39.0625-39.0625)
?w=—~¢ﬂr(+ ‘25t*BQC%QS)3QQ@25
E=—MG(* -.25)*-39.0625]

49(£-6.25)*+191.40¢25

Uertex . (& 25,191 ’46(;'2,5‘]

;1'-?

==
L

= Hf_xﬂh"r
—Th, ' Kt of +he flo i
Lhe MaxXirmum T‘!t’f'.*.q.‘n . me Tidre S

191.40625m and Fhis occurs ©.25s
after '+ 's ficed.
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